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RA | ) ) s D  BRMmE . &F
T—F fh Fik | MR (kg %8 (F) = il Ml PE (BAL)
30100 72 A 110 8,316] 76 76 76| BN 1104
Y3002 =74 (D) 13 18,014 1,674 1,674 324 | BN 13kg i
Y3006 =¥ (EFT) 4 432 108 108 108 | ™ 4kg 1
31100 M 50 6,588  1,404| 1,296 1,296 BN 510 |
31200 L HE 6 821 43 22 22 BN o8% |
31800 ¥ H AR 11 3,996 108 65 65 | B 55K
31800 1F 5 LA 24 11, 988 130 86 76 B/ 12048
31950 AR E 10 3,737 130 119 108 | B 3248
31900 A E 18 2,657 324 162 54 | B 18kg
36800 Box 19 32 18, 036 594 594 432 | B 32kg
V3041 fLH-oX 15 3 1, 296 432 432 432 | BN 3kg N
34100 #HK 6 1, 296 43 43 43 | B A 3048
34270 Ry F—= 10 1, 566 38 27 27 B 504%
35303 A F v TEIALD I 832 594 594 594 | BN lkg |
35402 AXED 2 1,836  1,080] 1,080  1,080| &M kg
36200 EEAE 5 486 o7 97 97| BMN Ske
36600 7~ Eh X 118 13, 068 119 108 108 &M 118kg
34780 BRESBLAZL 165 74, 822 151 146 97 | BN " 5504
Y3018 | 7H 3 69 9, 752 132 162 86 | BN 693
41806 |77 ABA 155 7,031 432 108 108 B 31% v k|
43900 U 14 10, 498 1238 238 216 BN 45 7
46108 X MIEDNE 15 13, 748 324 324 184 B 50/ 7
71011 | RS L—% 25, 164 65 54 43 B 4604
71050 &fE 65 22 22 22| B 3R
71150 | LiT 2,473 86 86 43| B 367
71161 48 (&) 10, 390 32 22 22 BN 455K v K
71186 | =Y 1, 647 65 54 22| BN 3545
71241 ~U 2 UH A 65| 13 13 13 BHN 5K
21273 AsFavT 65 32 32 32| B oA |
53456 | 7- )3 7RiE 1, 264 281 281 281 | BN 5kg )
Y5010 obRE (F) 4,223 918 918 918 | B 5kg |
30100 7T T A 3L 20 2,592 130 130 130 | E RS 2078
30100 722 A € 10 324 324 324 324 | BIRE Lr—2
30300 | A L 60 9,180 1,620 1,620 1,296 BEA 6r—2 |
30300 A% L 50 7,560 1,512 1,512 1,512 IR 5or—%A
30400 IS 9 3,229 70 70 e 46453
31100 A M 90 4,644 1,080 756 756 | FEIR B 64— A
33500 5 HHE L 4 778 22 22 22 @ 3648 B
33810 FIH3E 8 2,808 76 76 65 FEREB 404%
31700 F X 270 24, 570 1, 296 756 756 B 21— A
31800 135 ALAE 8 2,808 108 65 65 EE T 4085
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ih 44 & BR FE AT % =
= di ik | PERR (kg) %8 () =il o e E (BLAL)
31950 HAZE 12 3,132 864 864 702 | F[E 44— %
31900 X L 10 3, 046 216 162 108 VRS 203 (500g)
32800 125 15 2,700 . 22 16 16 |5 I 1505
34300 724 2T, 40 15, 120 2,160 1,836 1,728 |REA 84 — R
34400 b~ b 16 4,752)  1,188] 1,188 1,188 FEA ahr—=
34400 k= 12 3, 672 1,620/ 972 972 | EE IR 5 34—
34400 k< b M 12 5,184] 1,728] 1,728  1,728|fEK 37—
34460 = b F 15 3,152 648 648 540 |BEA 54— R
34460 | =L F & 10 6, 739 151 151 130 | B IR 5 4875 7
34100 L 45 9,720 1,080 1,080 1,080 EIE 92
34100 #1/K L 30 7,128 1,188 1,188  1,188| &M 6 —A |
34100 AN L 15 4,536 1,512 1,512 1,512 |EIR B 37— A
34100 #AJK B 20 2,376 594 594 594 | BB 443

34200 /L 40| 6,048 1,620 1,620 1,404 | =a—T— 44—

1 7 g

34500 B—< i B iz 6 3, 629 65 65 65 | IR 5648
34520 FRE— B |L 4] 756 432 432 324 |[ERE  2F—=
36600 mERE LK 40 7,128 3,564 3, 564 3, 564 | dbifE 2Hr —R
37200 L x 9 A 2L 4 1,728 1,728 1,728 1,728 HE 17— %
33400 L& = Y. 2,203 97 97 86 | K4y 24(E
132900 LY — L 1 972 | 972 972 972 | fa ik
33600 &Y 1 227 54 54 32 | #& ] 545

38100 A LWt 4 3, 672 97 97 86 | ‘&g 40,5 7
31310 APE 16 5,508 76 76 59 | %8 8048
31500 /a3 4 1, 836 1,836 1,836 1,836 | IR E 17r—2=
31500 /MAZE - 12 4,644 86 86 0 ERE 6048
32500 FHoiE 2 864 43| 43 43 BERE 205K
34800 BB 4 2,160 | 54 54 54 54 40% > b
36340 T LN REE 10 5,832 2,916 2,916 2,916 EIRE 243
37560 BB 1 4,536 648 540 540 | K4y 8%y
38620 E\\EF 2| 1, 566 86 76 76 | (& [F 2048
42320 (Vg FI—A K 10 5,616 5,616 5,616 5,616 H4k 17— A
46108 XANIONE 5 2, 160 162 162 54 | BEA 18357
46108 XM IEDONE 4 1,512 130 130 108 5 12/ 7
49100 AFF 180 33,966 | 2,502 2,484 1,836 74U 15h—=%
Y5006 B[ (B4 120 37, 584 3, 380 2,948 2,948 IR 125 —%
Y5006 I (B&44) 56 15, 530 198 198 184 | EEIR & 80/\°y7
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